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g# | SO, | NOx | CO | HCL [OPAC|MASS| SO, | NOx | CO | HCL |OPAC | MASS
Fp
“Ffn|FgEnc -5t L rEk e o e | FE | -F 0 B EET T
o g lor | e [ FE s s | e | s | e | BRI s | s

ppm ppm ppm ppm % |Nm3/hr| ppm ppm ppm ppm % | Nm3/hr
00:00 1=hE (e 0 (R =& =1 8.19 61.75 | 1012 | 1257 0.66 |59808.03
01:00 (e (e (3 (e B3 (e 8.14 63.55 6.76 9.78 0.67 |63769.60
02:00 1=hE =5 S e eding fEf 7.74 57.85 6.70 14.39 0.67 |69977.24
03:00 (B3 1= (B3 (e (B (e 6.74 62.45 11.92 10.82 0.67 |65553.93
04:00 1=hE =8 S =i g fEf 5.90 58.32 13.73 | 11.36 0.68 |67488.63
05:00 (B3 (2 (B3 (e (B (e 6.63 64.23 11.02 10.48 0.67 [66460.80
06:00 1=hE =8 i e eding fEf 6.55 62.98 7.91 12.38 0.67 |69115.45
07:00 (B3 1= (B3 (e (B (e 5.74 72.83 9.60 10.49 0.67 |66775.88
08:00 1=hE =5 i e eding fEf 5.45 65.87 9.51 9.12 0.68 |62239.56
09:00 (B3 (2 (B3 (e (B 1 6.29 57.38 13.90 10.98 0.74 |68112.42
10:00 1=hE 3 S =i g fEf 5.90 59.61 10.47 8.75 0.77 |69318.31
11:00 1= 0E = hE 1= 0E il =0 il 6.06 62.65 9.08 9.30 0.75 [64534.62
12:00 1=hE =8 S e eding fEf 5.96 62.72 4.45 10.23 0.76 |67464.41
13:00 (G (=2 (G (e (G = hE 5.86 61.57 9.98 10.27 0.75 (68908.73
14:00 =g =5 S e edind fEf 5.46 63.67 7.94 10.64 0.75 |67299.25
15:00 (G 1= (G (2 (G2 1= 6.18 60.32 14.36 10.70 0.76 |75498.94
16:00 1=hE =5 S e eding s 5.47 63.38 8.91 10.35 0.77 |70910.54
17:00 1= 0E =08 1= 0E 0 1= 0E 0 4.17 61.02 8.15 11.74 0.77 |71244.41
18:00 1=hE =15 S e eding s 2.87 58.17 5.93 9.27 0.75 |73769.50
19:00 1= 0E = hE 1= 0E 0 1= 0E 0 3.14 61.30 452 10.43 0.77 |73515.78
20:00 1=hE =5 S e edind fEf 3.35 59.57 551 9.55 0.77 |73377.67
21:00 1= 0E = hE 1= 0E 0 =0 0 471 58.41 1142 | 1264 0.77 |73818.23
22:00 1=hE =5 S e eding s 5.42 56.23 15.46 | 13.08 0.77 |72435.37
23:00 (G 1=5E | 3256 (2 0.68 1= 4.22 56.34 8.66 12.29 0.77 |74891.36




